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Section : Unit-1: General English

meaningful sentence.
A : expectation of a reward
B : it is often said that

C : duty without the
D : one should do one's

Ans o 1 BDCA

/X 2.BCDA
75 3.CABD
/X 4.DCAB

Q.1 Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a

Question ID : 600929911
Status : Not Answered
Chosen Option : =

meaningful sentence.
A: of the day over
B : of the happenings

C:adiary is a record
D : period of time

Ans  of 1 CBAD

75 2.BADC
/X 3.CABD
75 4.ADBC

Q.2 Parts of a sentence are given in jumbled order. Arrange the parts in the right order to form a

Question ID : 600929910
Status : Not Answered
Chosen Option : —
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Q.3 From the options given below choose the proper suitable Articles and fill in the blanks.

We went to
Ans x 1. a,the

X 2.a,an
J3.the,a
X 4. the, the

cinema and saw ____ very funny movie. We really had a good time!

Question ID : 600929898
Status : Answered
Chosen Option: 3

Q.4 From the options given below choose the proper suitable prepositions and fill in the blanks.

In his autobiography he refers

Ans  of 1 1o, of
X 2.into
X 3. on, of
75 4.is,on

his abhorrence animal diet.

Question ID : 600929900
Status : Answered
Chosen Option: 1

Q.5 Fill in the blank with an appropriate word choosing from the options given below.

We all call Taimur
Ans X" 1. bemused

X 2. plaintive
J 3. promiscuous

X 4. complacent

since he flirts with almost every girl in the school.

Question ID : 600929903
Status : Not Answered
Chosen Option : =

Q.6 Choose the correct synonym for the following word from the following given options.

ABSTRUSE
Ans x 1. lucid

( 2. perplexing
x 3. easy
X 4. obvious

Question ID : 600929909
Status : Answered
Chosen Option : 4
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Q.7 Choose the correct synonym for the following word from the following given options.
BLISS
Ans x 1. grief
( 2. happiness
x 3. misery
x 4. woe

Question ID : 600929908
Status : Not Answered
Chosen Option : =

Q.8 From the options given below choose the proper suitable prepositions and fill in the blanks.

No doubt he has achieved much, but | cannot give him credit all that he boasts

Ans & 1. with, on
x 2. about, for
«. 3. for, about

x 4. from, in

Question ID : 600929899
Status : Answered
Chosen Option: 3

|
- o B

Comprehension:

Read the following passage and answer the questions.

An old man lived in the village. He was one of the most unfortunate people in the world. The
whole village was tired of him; he was always gloomy, he constantly complained and was
always in a bad mood.

The longer he lived, the more bile he was becoming and the more poisonous were his words.
People avoided him, because his misfortune became contagious. It was even unnatural and
insulting to be happy next to him.

He created the feeling of unhappiness in others.

But one day, when he turned eighty years old, an incredible thing happened. Instantly everyone
started hearing the rumour:

“An Old Man is happy today, he doesn't complain about anything, smiles, and even his face is
freshened up.”

The whole village gathered together. The old man was asked:

Villager: What happened to you?

“Nothing special. Eighty years I've been chasing happiness, and it was useless. And then |
decided to live without happiness and just enjoy life. That's why I'm happy now.”

SubQuestion No : 9
Q.9 Why did the people avoid the old man?

Ans ( 1. because his misfortune became contagious
x 2. he was always gloomy and constantly complained
x 3. because he lived longer

x 4. because he was always in a bad mood.

Question ID : 600929905
Status : Answered
Chosen Option : 2
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Comprehension:

Read the following passage and answer the questions.

An old man lived in the village. He was one of the most unfortunate people in the world. The
whole village was tired of him; he was always gloomy, he constantly complained and was
always in a bad mood.

The longer he lived, the more bile he was becoming and the more poisonous were his words.
People avoided him, because his misfortune became contagious. It was even unnatural and
insulting to be happy next to him.

He created the feeling of unhappiness in others.

But one day, when he turned eighty years old, an incredible thing happened. Instantly everyone
started hearing the rumour:

“An Old Man is happy today, he doesn't complain about anything, smiles, and even his face is
freshened up.”

The whole village gathered together. The old man was asked:

Villager: What happened to you?

“Nothing special. Eighty years I've been chasing happiness, and it was useless. And then |
decided to live without happiness and just enjoy life. That's why I'm happy now.”

SubQuestion No: 10
Q.10 Why did the people regard him as misfortune and contagious?

Ans " 1 because of his age
x 2. because of the rumours they got to hear about him
‘, 3. because the more bile he was becoming, the more poisonous his words becan

x 4. because of the people who themselves were unhappy

~ = Y
Question ID : 600929906
Status : Answered
Chosen Option: 3

Comprehension:

Read the following passage and answer the questions.

An old man lived in the village. He was one of the most unfortunate people in the world. The
whole village was tired of him; he was always gloomy, he constantly complained and was
always in a bad mood.

The longer he lived, the more bile he was becoming and the more poisonous were his words.
People avoided him, because his misfortune became contagious. It was even unnatural and
insulting to be happy next to him.

He created the feeling of unhappiness in others.

But one day, when he turned eighty years old, an incredible thing happened. Instantly everyone
started hearing the rumour:

“An Old Man is happy today, he doesn't complain about anything, smiles, and even his face is
freshened up.”

The whole village gathered together. The old man was asked:

Villager: What happened to you?

“Nothing special. Eighty years I've been chasing happiness, and it was useless. And then |
decided to live without happiness and just enjoy life. That's why I'm happy now.”

SubQuestion No : 11
Q.11 What is the moral of the story?

Ans " 1. What goes around comes around
‘, 2. Don't chase happiness. Enjoy your life
x 3. Happiness comes to those who cherish it

x 4. Live and let live

Question ID : 600929907
Status : Answered
Chosen Option: 3

Page -5




Q.12 Choose an appropriate answer from the options given below.
We on thanksgiving give thanks for the of the food on the table.

Ans " 1. avarice

X 2.scorn
75 3.blight
J 4. bounty

Question ID : 600929902
Status : Answered
Chosen Option: 4

Q.13 Choose an appropriate answer from the options given below.
The study of the sounds of language is called what?

Ans X" 1. pneumatic
X 2. photography
J 3. phonetics

X 4. grammar

Question ID : 600929901
Status : Answered
Chosen Option : 3

Q.14 From the options given below choose the proper suitable Article and fill in the blank. If there
is no article required, then choose ‘Article not required’.

Robinson saw

Ans X" 1. the
Xz.a

X 3. Article not required

(4.an

art piece that really inspired him.

Question ID : 600929897
Status : Answered
Chosen Option : 4

Q.15 From the options given below choose the proper suitable Article and fill in the blank. If there
is no article required, then choose ‘Article not required’.

Honest men speak truth.

Ans XTa
XZ.an
(3.the

X 4. Article not required

Question ID : 600929896
Status : Answered
Chosen Option: 3

Section : Unit-2: Reasoning
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Q.1 1296, 648,2,108, 36,18, 6, 3 find the missing number.
Ans X' 1.316

75 2.416
X 3.516
W 4216

Question ID : 600929922
Status : Answered
Chosen Option : 4

Q.2 Ravi walks a distance of 5 km towards south, then turn to his right and walks 3 km. He again
turns right and walks 5 km. He then turns to his left and walks 5 km. how far he from the
starting point and in which direction is:

Ans " 1.3 Km East
X 2.5 Km West
25 3.3 Km North

o 4.8 Km West

Question ID : 600929923
Status : Answered
Chosen Option: 4

Q.3 Two statements are given under followed by two conclusions | and II. You have to consider
these statements to be true, even if they seem at variance from commonly known facts.
Decide which of the given conclusions logically follow/s from the given statement.
Statements:

1. No lake is river
2. No river is ocean

Conclusions:

I. No lake is ocean
Il. Some oceans are river

Ans ( 1. Neither conclusion | nor Il follows.
x 2. Only conclusion | follows.
X 3. Either conclusion | or Il follows.

x 4. Only conclusion Il follows.

Question ID : 600929916
Status : Answered
Chosen Option: 1

Q4

Ans XT

Question ID : 600929918
Status : Answered
Chosen Option : 2
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Q.5 AEI13, EIM17,........., MQU25 as per the given pattern, fill in the blank.
Ans X 1.1MU23

75 2.1MU21
X 3.EIQ24
W 4.1MQ21

Question ID : 600929925
Status : Answered
Chosen Option : 4

Q.6

Ans XL

Question ID : 600929919
Status : Answered
Chosen Option : 2

Q.7
Ans  of 1 142.41%

X 2.140.41%

75 3.82.62%

X 4.139.82%

Question ID : 600929913
Status : Answered
Chosen Option : 4

Q.8 Two statements are given under followed by two conclusions | and Il. You have to consider

these statements to be true, even if they seem at variance from commonly known facts.
Decide which of the given conclusions logically follow/s from the given statement.

Statements:

1. All names are houses.
2. No houses are mugs
Conclusions:

I. All names are mugs
Il. No houses are names

Ans X" 1. 0nly conclusion | follows.
X 2. Either conclusion | or Il follows.
x 3. Only conclusion Il follows.

“ 4. Neither conclusion | nor Il follows.

Question ID : 600929917
Status : Answered
Chosen Option: 4
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Q.9 BT A, B, C,D, E 3R F Geael @ %6 a1 A 3R E s §1 F, ERY g1 81 C, A & = (Gt /
HIGT /ATHT) T Fehedlal deT &1 B 3R D, C & far & wrs & afeai &1 C, F & &3 wafda g?

Ans XTW
W 2. == (g /R / R o
X 3.8
X 4.

Question ID : 600929924
Status : Answered
Chosen Option : 2

Q.10 fia Ry g usr & 1 3R 2 & wu & Ao fhy 7 St FU=1 & T1E Gk Ut ar @1 gl ag aa
T ¢ oF T & FU=T uSl &1 SR 3 & forg e &

TS ST Rl STl oRIT 87

&
1. vraet (RrfieR) 148
2. famui 58

Ans X 1. gfE smmuant 1 3R 2 ¥ A IR 781 e w81 8, foir oft a1fdes a1 Y smasgehar &
25 2. af wu 2 ket € U &1 IR 3 & foIg vafe &, At e 1 ardhel € SR & & forg
uaf TE &
X 3.3 ey 1 St & w1 TR 33 & forg vat &, Afh e 2 Stehel €1 IR & & feig
Tt 7d &
W 4. af st 1 o 2 @ e IR e FeaT

Question ID : 600929920
Status : Answered
Chosen Option: 4

— —

Q.11 iR Ry g usr & 1 3R 2 & Fu & Ao fhT 7 &t FHu=l & a1 U us Rar @1 gl ag T
AT & b T & syt wet a1 SR 21 & fore uafa &)

usi: Ui §H UThfaeh HEarsil & Wi d | uge & §5 UThfae Swarsil o1 gkt T 82
1. gEH ST Uge! HET & SN @
2. 9t uta HEATg shATTE 96 SIS 8

Ans X 1. 7f oo 2 ardhel B T T IR & forg TaTta @, ftheT o 1 Sichel €1 ¥R 3 & foig
ERISELE
XZ.wﬁaﬂuamWzéﬁwwﬁﬁaw%ﬁmﬁa@m@@rm&m%
o 3. 3f st 1 ok 2 & e IR et waa 2|

725 4 gy 1 et € U a1 IR 37 & oG vafe &, At s 2 ardhel € IR 23 & forg
i 781 81

Question ID : 600929921
Status : Answered
Chosen Option : 3
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Q.12 WORK is coded as 4-12-9-16, then how will you code POLICE.
Ans X" 1.11-12-15-18-24-25

W 2. 11-121518-24-22

X 3.11-13-1518-24-27

25 4111213141516

Question ID : 600929914
Status : Answered
Chosen Option : 2

Q.13 If RAVI = 9-1-4-3 and ASHA = 1-1-8-1 then DEEPIKA=?
Ans  of' 1 40.0.7-30-1

X 2.4-3-3-6-3-2-1

X 3.4-3-3-7-3-2-1

75 4.4226821

Question ID : 600929915

Not Attempted and
Marked For Review

Chosen Option : =

Status:

Q.14

Ans  of'130/138
X 2.38/17
X 3.3.4/19
X 4.33/16

Question ID : 600929912

Not Attempted and
Marked For Review

Chosen Option : =

Status:

Q.15 As per the pattern in the given series, what comes next?

A2B, B6F, C12L, D20T, E30D
Ans X' 1.F41Q

o 2 Faop
75 3.P43F
X 4.Q40F

Question ID : 600929926
Status : Answered
Chosen Option : 2

Section : Unit-3: Quantitative Aptitude
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Q1

Ans X142
W 254
X 3.48
25 445

Question ID : 600929944
Status : Answered
Chosen Option : 2

Q.2 i fa<h Teh I1Y IBTA ST &1 FH & FH Ueh g€ 3R Ueh T UTd & <hl urflehdr <am 8?

Ans x 1.

Question ID : 600929946
Status : Answered
Chosen Option: 3

Q.3 29 Bl &t eftea 3y 16.5 af &1 fAareh At oy o1 B SR fRAaren] Hir siwa smg & 28 adf
i g1 fAerer 6 oy (awt F) a1 82 (525« & Teh T dah)

Ans & 145
X 2.46.5
X 3.46
of 4455

Question ID : 600929942
Status : Not Answered
Chosen Option : —

Q.4 86.4 km/h Y TTe § T+t aTeft 31 A, 75.6 km/h Y Tt & i Rz & oot areht 29 B &t 15
ehe # UR o At g1 T 39 A Y iams 299 B ) i oh1 4/5 @, @t 377 B Y wiard (m) e &2

Ans  of 1 375
X 2.300
75 3.400
X 4.450

Question ID : 600929933

. Not Attempted and
* Marked For Review

Chosen Option : —

Status
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Q.5 U I sHh! sifdha FrAa R 6.25% Fe & @18 F. 600 F a=ft wft1 o Fe 7 & A g, @t
ST 28% i1 a¥g & AT o o 82

Ans  of 1 % 500

7 2.%.480
X 3.3.520
/< 4.%.560

Question ID : 600929939
Status : Not Answered
Chosen Option : —

Q.6 A 3R B Y 11 T 317Ut 3 : 2 §, ITch = T 31Ut 2 : 1 & 3R I} srwrd T S1gure 8: 7 &1
Tfg A 3R B &t et ATCTiges a9 €. 7500 §, At A Y |TeAtiges o1 T §?

Ans  off 1.3 9000

X 2.%.6000
X 3.%.7200

X 4.%.5400

Question ID : 600929929
Status : Not Answered
Chosen Option : =

Q.7 T ghFER 7 16% i g1 R Gk avg &t S=11 SrR a8 & ¥. 380.80 # a=re, at I 40% 1
ST g gl 3R a¥g &. 697 # farerell, a¥ ____ &

Ans XT
X 2
X 3
v

Question ID : 600929937
Status : Not Answered
Chosen Option : =

Q.8 urEy A 31k B shu2r: 30 fFe 3fir 40 e & uer ¥k ol wR Ieahd &, stafes ursy C ufa fase 51
iR urh &t RerTe Gearar 21 afE gft = ursy v @1y @i s €, af ¥R 90 e 7 R s
21 & Y era (chex ) @ 22

Ans " 1.720
X 2.864
o 3.1080
X 4.900

Question ID : 600929931
Status : Not Answered
Chosen Option : —
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Q.9 A 3R Bsruen: X 3R Y fargail @ geh xR &Y 3R G A1y ggd &1 I & A & a1, A siR Bt
AL Y 311k X ek ugee & # sFnsn: 5.4 |2 3R 2.4 6 7t afg B &t are 67.2 km/h of, dt At
=ret (km/h ®) fera=it o2

Ans X' 1484

o 2448
X 3.454
X 4.506

Question ID : 600929934
Status : Not Answered
Chosen Option : =

Q.10 Qe A1ar 28 km oRT & faodia fem & iz Ia+1t &t gt adeh uRT hi fGan & srelt @1 s g a7 13
e 20 fAse 1G9 T g1 afe 7 km oy i R & -9 A 39 gR o man 994, 3 km Ry
& fAvdia o A T a1 99T & =R , at R arr R fAadia e A s waa R T«
(km/h) =T &2

Ans ?("1.4
23
X 3.35
X 425

Question ID : 600929935
Status : Not Answered
Chosen Option : =

—_— =

Q.11 A, BT 40% & 3R B, C & 60% 31fdrer 21 af C, D & 45% =1 &, &t D, A & fora= ufarera aifder 82
(quifer & fFrereaw)

Ans  of 1 184
X 2.192
75 3.194
X 419

Question ID : 600929940
Status : Not Answered
Chosen Option : =

Q.12 ok TFThR UTS A 3 TSI TR &G 1, 2, 2, 3, 3 3R 4 3ifdha € 3R Uk g& o-TehR Uit B & ool
W 1,3, 4, 5,6 3% 8 3ifhd &I =1 UTR Ueh IR Uk 1Y Gheh STt @1 o1 ufAehdn & fah S+ ofied
geai uR et areft Seansii o1 anT 8 am 10 ghm?

Ans #’1_

Question ID : 600929945
Status : Not Answered
Chosen Option : —
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Q.13
Ans X1 14fm

X 2.15R4

W 3. 16R

r RVAC

Question ID : 600929930
Status : Answered
Chosen Option : 2

Q.14 srR a: (b+c) =4:5,c: (atb) =1:24d¥ b: (a+c) o1 A T gIIT?
Ans X' 1.1:2

227

X 3.2:5

y Y

Question ID : 600929927
Status : Not Answered
Chosen Option: =

Q.15 ugg Tanail 1 3iHd 48.4 21 ugeil IR TEarsil a1 3id 44.5 §, 3R sifaw sie dwarsi &1 55
21 5 iz, 6<ff ST @ 3 @A g, Afehe 7<ff T 9 3 orfdies &1 5 iR 62 Tiwarsit = oftaa
FTE?

Ans  of 1375
X 2.36.4
X 3.36
X 4.38

Question ID : 600929943
Status : Not Answered
Chosen Option : =

Q.16 &g 7q &1l &Y e & fAQ A, B il gt & 40% 3ifrer are @ 8iik C, B &l gor=iT & 20% e
A &1 Teh 1Y hTH et UR d Yk e it 15 AT & o1 e Fehat €1 A 3R B Teh a1 3%t v
o fohe R & g1 R d1?

Ans X118
X 2.24
X 3.28
W 220

Question ID : 600929932
Status : Answered
Chosen Option: 1
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Q.17

Ans X" 124
W 225
X 3.30
75 4.20

Question ID : 600929941
Status : Not Answered
Chosen Option : =

Q.18 ek I okt Yeh RS Fimda wR @i sirar 81 afe 399 @ uan-fagrs wmn &t 15% i g R
aar e g, @t QR A9 J 25% 1 g e o g Qe Are ont fRaa wfarera @ R d=w
Sme?

Ans X 1.42%
X 2.48%
X 3.40%
W 4.45%

Question ID : 600929936
Status : Not Answered
Chosen Option: =

Q.19 & a%g & Sifeha e o= 20% hi Fe 3 & are Qe Al &t 16% &1 gidr & | afe a¥q & «rra
7w | 10% Fi g 8t STy, at I§ ugst & aRTeR @19 ufaid e e & forg avg & sifoha gea
wR et ge ufasa & afRg?

Ans XT

Question ID : 600929938
Status : Not Answered
Chosen Option : —

Q.20 &. xR AfA R A, B, C 3R D & frwr 59 a=g Rt forar war @, aifer A 3k B & fawdi &t

AU 3: 18, BRCHA Igud5:2g AR CRD AT aquia2: 12 aRk B iR D& et &
i 1 3R ¥. 1228 &, a9 X &1 719 A1 HifSig|

Ans X 16754
W 27061
X 3.7368
/< 4.7038

Question ID : 600929928
Status : Answered
Chosen Option : 2

Section : Unit-4: Civil Engineering
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Q.1 Which of these is not an error due to natural causes in case of stadia surveying?
Ans ( 1. Parallax

75 2.Bad visibility
X 3. Unequal refraction

x 4. Unequal expansion

Question ID : 6009291042
Status : Answered
Chosen Option: 1

Q.2 A fixed beam loaded transversely is statically indeterminate by:
Ans x 1.1 degree

X 2. 3 degree

( 3.2 degree

x 4. No indeterminacy

Question ID : 6009291013
Status : Answered
Chosen Option : 4

Q.3 Accurate estimate is prepared in detail item-wise by:
Ans “ 1. Detailed estimate

X 2. Quantitative estimate
x 3. Document estimate

X 4. Quantity estimate

Question ID : 6009291052
Status : Answered
Chosen Option: 1

Q.4 The influence line for structural function is used for obtaining maximum value because of:
A. Uniformly distributed load only
B. Single point load
C. Series of concentrated load.

Ans X' 1. BandC

75 2.AandB
X 3.0nly A
o 4. ABandC

Question ID : 6009291019

Not Attempted and
Marked For Review

Chosen Option : =

Status:
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Q.5 Specific gravity of Talc is:

Ans X' 1.35
X247
X 35
427

Question ID : 600929968
Status : Answered
Chosen Option : 4

Q.6 At what temperature is the Hydrometer calibrated?
Ans x 1. 45 degree celsius

x 2. 20 degree celsius
J 3. 27 degree celsius

x 4. 32 degree celsius

Question ID : 600929962
Status : Answered
Chosen Option: 3

Q.7 The displacements resulting from each of a number of forces may be added to obtain the
displacements resulting from the sum of forces this principle called as:

Ans x 1. Superimposition
x 2. Structural displacement
J 3. Superposition

x 4. Super reaction

Question ID : 6009291022
Status : Answered
Chosen Option: 3

Q.8 Which of the following is not an Non-destructive test method conducted on harden concrete?
Ans ( 1. Splitting tension test

X 2. Nuclear method
x 3. Rebound Hammer method

X 4. Radioactive method

Question ID : 600929956
Status : Answered
Chosen Option: 1
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Q.9 If the temperature of bitumen at the surface of a road rises, its viscosity reduces. This
reduced viscosity allows the bitumen to creep up the surface of any water droplets which fall
on the surface and cause?

Ans x 1. Film Rupture

x 2. Detachment

i 3. Blistering
/X 4. Pitting

Question ID : 6009291004
Status : Answered
Chosen Option : 2

Q.10 The term by which a contractor is paid for specifically instructed work on the basis of cost of
labor, material and plant plus a markup for overheads and profit is known as:

Ans i 1. Day work

x 2. Hour work

x 3. Item rate

x 4. Capital cost

Question ID : 6009291047
Status : Answered
Chosen Option : 4

Q.11 The ratio of the load causing collapse to the working load is called the:
Ans ( 1. Load factor

X 2. Safe factor
x 3. Shape factor

X 4. Base factor

Question ID : 6009291010
Status : Answered
Chosen Option: 1

Q.12 The Lami's Theorem is applicable only for:
Ans ( 1. Coplaner Forces

x 2. Coplaner And Concurrent Forces
x 3. Any Type of Forces

x 4. Concurrent Forces

Question ID : 600929992
Status : Answered
Chosen Option : 4
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Q.13 1 tonne(t) is equals to:
Ans X" 1.9.80665N

75 2.9.80665 N/m?
/X 3.9.80665 N/m

W 4.9.80665 kN

Question ID : 6009291023
Status : Answered
Chosen Option : 4

Q.14 In centesimal system of surveying 1 circumference is in how many grads?
Ans " 1.200

W 2 400
X 3.600
X 4.800

Question ID : 6009291033
Status : Answered
Chosen Option : 2

Q.15 The truss in known as a Plane truss since all the members lie in:
Ans X" 1 Circular plane

( 2. One plane

x 3. Different plane

X 4. Perpendicular plane

Question ID : 6009291024
Status : Answered
Chosen Option: 1

Q.16 Which is the shrinkage that occurs before final set and is caused by bleeding?
Ans x 1. Aggregate shrinkage

x 2. Autogenous shrinkage
« 3. Plastic shrinkage

x 4. Thermal shrinkage

Question ID : 6009291001
Status : Answered
Chosen Option : 3
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Q.17 The cost estimation that is obtainedby ______is Cube rate cost estimate.

Ans

X 1. Multiplying site area with the height of the building
“ 2. multiplying plinth area with the height of the building
X 3. Cost of material and labour for sqm

x 4. detail item-wise

Question ID : 6009291051
Status : Answered
Chosen Option : 2

Q.18 For which class of bricks crushing strength should not be less than 7N/mm??

Ans & 1| class brick

“ 2. Il class brick

X 3.1V class brick

x 4. 1ll class brick

Question ID : 6009291006
Status : Answered
Chosen Option: 2

Q.19 Masonry arches resist the external loads by:
Ans “ 1. Thrust only

x 2. Normal thrust and shear
X 3. Bending moment and radial shear

x 4. Normal thrust, radial shear and moment

Question ID : 6009291009
Status : Answered
Chosen Option : 2

Q.20 In the Aggregate impact value test, as per IS: 2386 (part IV), the test sample should pass and

Ans

retain through which of the following sieve size?

X 1. Passing 15 mm, retained on 10 mm sieve
x 2. Passing 12.5 mm, retained on 6.3 mm sieve
“ 3. Passing 12.5 mm, retained on 10 mm sieve

x 4. Passing 15 mm, retained on 6.3 mm sieve

Question ID : 600929952
Status : Answered
Chosen Option: 3
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Q.21 Which of these construction, earthwork excavation is not considered?
Ans X" 1 Utility Walls

x 2. Foyer Area Walls

( 3. Stairs
/5 4. Walls

Question ID : 6009291044
Status : Answered
Chosen Option: 3

Q.22 What is the deflection at the free end of a cantilever beam subjected to a concentrate load P
at the free end?

Ans  of 1
X2
X 3.
y

Question ID : 600929979
Status : Answered
Chosen Option: 1

_—
Q.23 Which is the crystal in which ions are related with each other by electrostatic attraction?

Ans x 1. Atomic crystal
( 2. lonic crystal
x 3. Metal crystal
x 4. Molecular crystal

Question ID : 600929996
Status : Answered
Chosen Option : 2

Q.24 Taking up or down or breaking up without care is termed as:
Ans X" 1. Reconstruction

X 2. Dismantling
“ 3. Demolition

X 4. Redevelopment

Question ID : 6009291053

Not Attempted and
Marked For Review

Chosen Option : —

Status :
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Ans

Q.25 The cement used for laying masonry are termed as?

X 1. Grout

( 2. Building mortars
X 3. In situ concrete

x 4. Concrete masonry

Question ID : 600929999
Status : Answered
Chosen Option : 2

Ans

Q.26 Which of these is a personal error?

“ 1. Inaccurate centering
x 2. Blunt pivot point
x 3. Sluggish needle

x 4. Pivot being bent

Question ID : 6009291035
Status : Answered
Chosen Option: 1

Ans

W 1. Bat
X 2. King closer
x 3. Beveled closer

X 4. Mitred closer

Q.27 When a brick is cut across the width, the resulting piece is called as:

Question ID : 600929957
Status : Answered
Chosen Option: 1

Ans

Q.28 The moment area yield:

“ 1. Slopes and deflections
x 2. Only slope at a section

x 3. Elastic curve

x 4. Only deflection at a section

Question ID : 6009291029
Status : Answered
Chosen Option : 2
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Q.29 Extension per Unit Length is defined as:
Ans X" 1. Tension Stress

/< 2. Elasticity
X 3. Compressive Stress

( 4. Tensile Strain

Question ID : 600929972
Status : Answered
Chosen Option : 4

Q.30 The rows of arches in continuation is called as:
Ans x 1. Impost

x 2. Haunch
J 3. Arcade

x 4. Spandrel

Question ID : 6009291065
Status : Answered
Chosen Option: 3

Q.31 Which of the following is formed for Primary use of equilibrium analysis is to evaluate the
reactions and internal forces?

Ans x 1. A series of elemental forces

x 2. A series of external weights
J 3. A series of free body diagrams

x 4. A series of external forces

Question ID : 600929987
Status : Not Answered
Chosen Option : —

Q.32 moment is considered positive when its acts on a member end.
Ans X 1 Fixed

( 2. Twist
x 3. Zero
X 4. Normal

Question ID : 600929988

Not Attempted and
Marked For Review

Chosen Option : —

Status :
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Q.33 Which of the following forces should be considered for the design of structures in areas of
Seismic activity?

Ans o 1. Earthquake forces
X 2. Frictional force
x 3. Wind force

X 4. Spring force

Question ID : 6009291027
Status : Answered
Chosen Option: 1

Q.34 Which material has a composite structure which is layered structure formed agglutinated by
different sheets?

Ans  off 1 Laminated structure
X 2. Granular structure
x 3. Fibrous structure

X 4. Dense structure

Question ID : 600929995
Status : Answered
Chosen Option: 1

Q.35 Prismoidal correction while surveying is always?

Ans x 1. Exponentially subtractive
x 2. Exponentially additive
( 3. Subtractive
75 4. Additive

Question ID : 6009291041
Status : Not Answered
Chosen Option : =

Q.36 Frames are characterized by resisting members at some or all the joints.

Ans X 1. Torsion
x 2. Shear
o 3. Moment
x 4. Tension

Question ID : 6009291025
Status : Answered
Chosen Option: 1
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Q.37 Flakiness index and Elongation index test is not applicable to aggregate sizes smaller than:
Ans X" 1.12.5mm

/< 2.10mm
(3. 6.3 mm
/X 4.15mm

Question ID : 600929948
Status : Answered
Chosen Option: 3

Q.38 If two arches are constructed side by side, then a curved triangular space is formed between
the extrados with the base as horizontal line through the crown. This formed space is called
as

Ans { 1. Spandrel
X 2. Springing line

25 3.Haunch

X 4. Skew back

Question ID : 6009291064
Status : Answered
Chosen Option: 1

Q.39 Which soil Coefficient of permeability ranges from 1 x 10 — 2 = 5 x 10 — 2 cm/sec?
Ans & 1. Lateritic

x 2. Red soil
( 3. Sand
x 4. Clay

Question ID : 600929971

Not Attempted and
Marked For Review

Chosen Option : =

Status:

—

Q.40 A detailed estimate that is prepared when there is a requirement of additional work during the
progress of the original work is known as:

Ans X" 1. Annual repair cost estimate
X 2. Revised cost estimate
x 3. Approximate quantity method cost estimate

J 4. Supplementary cost

Question ID : 6009291049
Status : Answered
Chosen Option : 4
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Q.41 Bringing the face of telescope from right to left and vice versa is termed as?

Ans

( 1. Changing face
x 2. Transiting

X 3. Swinging the telescope

x 4. Centering

Question ID : 6009291036
Status : Answered
Chosen Option: 1

Q.42 The moment area method is valid for:

Ans

x 1. Frames

x 2. Continuous beams
J 3. Single span beams

x 4. No limitations

Question ID : 6009291028
Status : Answered
Chosen Option: 3

Q.43 Which of the following law, the magnitudes of the reactions are such that the applied loads

Ans

are exactly counteracted?
X 1. Newton's first law

x 2. Newton's second law
J 3. Newton's third law

x 4. Ampere's force law

Question ID : 600929984
Status : Answered
Chosen Option: 3

Q.44 During Estimation and costing, which of these deduction are not made?

Ans

x 1. Cornice

X 2. Lintels over opening
x 3. Electrification work

( 4. Bearing of roof slabs

Question ID : 6009291045
Status : Answered
Chosen Option : 4
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Q.45 Stationary structure acted upon by a system of forces which include external loads, reactions
and body forces caused by which of the following elements.

Ans  of 1 Weight
X 2. External tension
x 3. External Moment

X 4. Pressure

Question ID : 600929983
Status : Marked For Review
Chosen Option: 1

Q.46 Theorem of Perpendicular axis is used in obtaining the moment of inertia of a:
Ans X" 1. Triangular lamina

x 2. Circular lamina
X 3. Semicircular lamina

“ 4. Square lamina

Question ID : 600929994
Status : Answered
Chosen Option: 2

Q.47 The clay whose sensitivity ranges from 8-16 has which kind of the structure?
Ans x 1. Rectangular

x 2. Square
x 3. Tubular

( 4. Flocculent

Question ID : 600929970
Status : Not Answered
Chosen Option : —

Q.48 Schmidi's Rebound Hammer technique is used to measure:
Ans X' 1. Tensile Strength

X 2. Shrinkage limit
x 3. Compressive strength

( 4. Surface hardness

Question ID : 600929958
Status : Answered
Chosen Option : 3
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Q.49 The size of the brick is 790 mm x 90 mm x 90 mm and the mortar is 8 mm thick with the ratio

of 1: 4. Calculate the number of bricks for 1 meter cube:

Ans  of 1 526
X 2.547
X 3.425
X 4.483

Question ID : 6009291060

. Not Attempted and
* Marked For Review

Chosen Option : =

Status

Q.50 Maximum strain energy which can be stored by a body without undergoing permanent

deformation is known as:
Ans ( 1. Proof resilience

x 2. Volumetric strain

x 3. Strain energy

x 4. Modulus of resilience

Question ID : 600929981
Status : Answered
Chosen Option : 4

==
Q.51 Creep which is a strain due to loading with no loss of moisture?

Ans X" 1. Creep
X 2. Specific creep
« 3. Basic creep

X 4. Total creep

Question ID : 6009291000
Status : Answered
Chosen Option : 1

Q.52 Positive shear force forms a
Ans X" 1. Anticlockwise

couple on a segment.

( 2. Clockwise

x 3. Both clockwise and Anticlockwise

x 4. zero

Question ID : 600929986
Status : Answered
Chosen Option : 2
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Q.53 The ratio of deflection at centre of a fixed beam and simply supported beam under a
concentrated load up at the centre of the space is.

Ans X' 1.05
W 2025
X 302
X 4.075

Question ID : 6009291007
Status : Answered
Chosen Option : 2

Q.54 Bulk Modulus is defined as the ratio of:

Ans ( 1. Volumetric stress to volumetric strain
x 2. Volumetric strain to volumetric stress
X 3. Shear strain to shear stress

x 4. Shear stress to shear strain

Question ID : 600929974
Status : Answered
Chosen Option: 1

Q.55 Subgrade of road shall be well consolidated and compacted each with a camber of:
Ans " 1.1in30

X 2.1in45
X 3.1in15
W 4. 1in60

Question ID : 6009291055
Status : Not Answered
Chosen Option : —

Q.56 A compressive force is considered negative when:
Ans x 1. The member produces Torque

( 2. The member produces Tension
x 3. the member produces Shear force

X 4. The member produces Bending moment

Question ID : 600929985
Status : Not Answered
Chosen Option : =
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Q.57 In case of line plan of building, what dimensions of space are shown?
Ans X 1. Centreline of wall

“ 2. Inner dimensions
X 3. Door dimensions

x 4. Exterior Dimensions

Question ID : 6009291043
Status : Answered
Chosen Option: 1

Q.58 The slope of the cantilever beam of space | at the free end due to load concentrated load at
the free end is:

Ans  of 1 (PL2)/2EI
75 2. (PLY/3EI
X 3. (PLY/4E1)
75 4 PL/EI

Question ID : 6009291030
Status : Answered
Chosen Option: 1

_—
Q.59 Levelling in which levels on each side of the main line at right angles to that line is called?

Ans x 1. Precise levelling
x 2. Profile levelling
x 3. Differential levelling

( 4. Cross sectioning

Question ID : 6009291039
Status : Answered
Chosen Option : 4

Q.60 A brick having full length and thickness but half the width of a full brick is known a:
Ans X" 1 Bevelled Bat

X 2. Mitred Closer

x 3. King Closer
( 4. Queen Closer

Question ID : 600929951
Status : Answered
Chosen Option : 4
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Q.61 Which equipment is used for finding soundness of cement?

Ans X 1. Phycnometer apparatus
( 2. Le-Chatelier apparatus
X 3. Permeability apparatus

x 4. Vicat apparatus

Question ID : 600929947
Status : Answered
Chosen Option : 2

Q.62 Which is the estimate that is conducted when additional works are done after completion of
original works?

Ans X" 1.Plinth Area Estimate
x 2. Materials Estimate
( 3. Supplementary Estimate

x 4. Cube Rate Estimate

Question ID : 6009291046
Status : Answered
Chosen Option: 3

Q.63 A three hinged arch is:
Ans J 1. Statically determinate

X 2. Statically determinate or indeterminate depending upon loading
x 3. Statically indeterminate because of central hinge

x 4. Determinate if the springs are at the same level

Question ID : 6009291015
Status : Answered
Chosen Option: 1

Q.64 In materials obeying Hook's law, the Load-deformation relationship is:
Ans x 1. Colinear

X 2. Maximum
x 3. Zero
( 4. Linear

Question ID : 6009291021
Status : Answered
Chosen Option : 4
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Q.65 The most common cracking which occurs in walls made with mixes with a high water
content?

Ans X" 1. Plastic settlement cracking
X 2. Easy thermal cracking
x 3. Plastic shrinkage cracking

“ 4. Drying shrinkage cracking

Question ID : 6009291002
Status : Answered
Chosen Option: 4

Q.66 Tension coefficient of a member indicates:

Ans X 1. Force per unit displacement
“ 2. Force per unit length of member
X 3. Force in a member

x 4. Shear in a member

Question ID : 6009291016
Status : Answered
Chosen Option: 4

Q.67 For the Purpose of structural analysis, any load can be idealized into:
Ans x 1. Erection loads

x 2. Seismic force
x 3. Foundation load

( 4. Concentrated load and line load

Question ID : 6009291026
Status : Answered
Chosen Option : 4

Q.68 The minimum water content at which a soil will just begin to crumble when rolled into a
thread approximately 3mm diameter is known as?

Ans x 1. Consistency Index
x 2. Static Index
/X 3. Static Limit

« 4. Plastic Limit

Question ID : 600929966
Status : Answered
Chosen Option : 4
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Q.69 The super-plasticizers are used as admixture for the following purpose:

Ans X" 1.To decrease the cement content
“ 2. To disperse particles, remove air bubbles and to retard setting
X 3. To disperse particles only

x 4. To decrease the setting time

Question ID : 600929953
Status : Answered
Chosen Option : 2

Q.70 A brick when cut at one end by half header and half stretcher, it is known as:
Ans X 1. Queen Closer

( 2. King Closer
x 3. Beveled Closer

X 4.Bat

Question ID : 6009291057
Status : Answered
Chosen Option : 2

Q.71 Which is the effect of radiation on materials which heats the things on which radiation falls?
Ans x 1. Transmission

X 2. Scattering

x 3. Nuclear reactions

“ 4. Energy dissipation

Question ID : 600929998
Status : Answered
Chosen Option : 4

Q.72 The estimate that is prepared in initial stage to know the approximate cost of the project is
known as:

Ans x 1. Approximate quantity method cost estimate
X 2. Revised cost estimate
x 3. Detailed cost estimate

( 4. Preliminary cost estimate

Question ID : 6009291048
Status : Answered
Chosen Option: 1
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Q.73 Which of these is oil type preservatives which are used for preservation of timber?
Ans X" 1. Copper naphtha Nate

x 2. Zinc chloride

X 3. Pentachlorophenol

“ 4. Creosote

Question ID : 6009291005
Status : Answered
Chosen Option : 4

Q.74 Dutch bond is a modification of:
Ans x 1. Header bond

x 2. Single Flemish bond
x 3. Stretcher bond
( 4. English bond

Question ID : 6009291056
Status : Answered
Chosen Option : 4

Q.75 The tool which is used to measure the perpendicularity between two walls to make sure the
bricks are set at an exact

90 degree is known as:
Ans X 1 Straight edge

X 2. Masons level
« 3. Masonry square

X 4. Mason's line

Question ID : 6009291066
Status : Answered
Chosen Option: 3

_—
Q.76 If bulk modulus(K) is 80 GN/m?Z and Rigidity modulus (C) is 48 GN/m2, determine Young's
modulus:
Ans  of 1120 GN/m?
25 2.90 GN/m?

25 3.150 GN/m?
X 4.180 GN/m?

Question ID : 600929980
Status : Answered
Chosen Option: 1
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Q.77 In atension test on a mild steel rod of 12mm diameter, following observations are made.
a) Load at yield point = 28.5 kN

b) breaking load = 42 kN
Find out Yield stress

Ans X" 1.155.5 MN/ m?
X 2.222.5 MN/ m?
25 3.275.5MN/ m?

o 42525 MN/ m?

Question ID : 600929978

Not Attempted and
Marked For Review

Chosen Option : —

Status :

Q.78 The excavation that involves the removal of excessively wet material and soil that is
unsuitable for stockpiling is known as:

Ans x 1. Topsoil excavation
x 2. Earth excavation
x 3. Unclassified excavation

( 4. Muck excavation

Question ID : 6009291050
Status : Answered
Chosen Option : 4

Q.79 The outer curve which bounds the upper edge of the arch is known as:
Ans f 1. Extrados

X 2. Camber
x 3. Skewback

X 4. spandrel

Question ID : 6009291062
Status : Answered
Chosen Option: 1

Q.80 The section modulus of a rectangle with breadth b and depth d will be:
Ans  of 1 (bd%/6)

75 2. (bd?%/12)
X 3. (bd%/12)
75 4. (bd%/6)

Question ID : 600929982
Status : Answered
Chosen Option: 1
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Q.81 If E is Young's modulus, C is Rigidity modulus and K is Bulk modulus, then the relationship
between them is given by:

Ans ?‘«'T

Question ID : 600929975
Status : Answered
Chosen Option : 3

Q.82 Piles that are used in locations where increase in the end bearing area is desired is known
as?

Ans " 1. Raymond piles
“ 2. Western Button bottom Pile
x 3. Sheet piles

X 4. metal monotube pile

Question ID : 600929967
Status : Not Answered
Chosen Option: =

Q.83 Which of the following is not a type of equilibrium?
Ans X" 1. Stable equilibrium

x 2. Unstable equilibrium
X 3. Neutral equilibrium

“ 4. Negative equilibrium

Question ID : 600929991
Status : Answered
Chosen Option: 4

Q.84 If p is the Standard consistency of cement, the amount of water used to find the initial setting
time of cement is:

Ans X 1.0.55p
75 2.0.35p
X 3.075p
W 4.085p

Question ID : 600929949
Status : Answered
Chosen Option : 4
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Q.85 Which of these is an instrumental error during levelling?
Ans X 1. Error in sighting

( 2. Rod not of standard length
X 3. Mistake in rod handling

x 4. Mistakes in manipulation

Question ID : 6009291040
Status : Answered
Chosen Option : 2

Q.86 Which of these is a disadvantage of internal focusing telescope?

Ans ( 1. Internal lens reduces the brilliancy of the image
x 2. Line of collimation is less likely to be affected by focusing
x 3. Overall length of the tube is not altered during focusing

x 4. Wear on the rack and pinion is less due to lesser movement of negative lens

Question ID : 6009291037
Status : Answered
Chosen Option: 3

Q.87 The theorem of three moments cannot be applied to:

Ans x 1. Continuous beams with over hangs
( 2. Trusses and frames
x 3. Single span fixed beams

X 4. Continuous beams with sinking supports and rotating joints

Question ID : 6009291014
Status : Not Answered
Chosen Option : =

Q.88
Ans X 1. Determinate

x 2. Redundant

x 3. Stable
( 4. Unstable

Question ID : 6009291011
Status : Answered
Chosen Option : 2
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Q.89 Which is these is a requirement of a mortar after it has set?

Ans X 1. It should remain useable for 2 hrs after mixing
x 2. It should be sufficiently cohesive to stay on a trowel

( 3. It should be strong enough to carry the loads that are applied on it by the masonry
units

X 4. 1t should be sufficiently workable to spread easily.

Question ID : 6009291003
Status : Answered
Chosen Option: 3

Q.90 Which of the following concrete has the ability to heal its crack?
Ans X 1. High performance concrete

( 2. Bacterial concrete
X 3. Shortcrete

x 4. Self-compacting concrete

Question ID : 600929954
Status : Answered
Chosen Option : 2

_—

Q.91 The influence diagram for maximum bending moment for a point load in a simply supported
beam is:

Ans X 1. rectangular

x 2. Parabolic
( 3. Triangular

x 4. Irregular

Question ID : 6009291012
Status : Answered
Chosen Option: 1

Q.92 Which the survey that is done for determining quantities for designing of engineering works?

Ans x 1. Archeological survey
x 2. Mine survey
J 3. Engineering survey
x 4. Military survey

Question ID : 6009291031
Status : Answered
Chosen Option: 3
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Q.93 Which one of these methods is used to find the In-Situ Density?
Ans X 1. Dry sieve analysis method

x 2. Alcohol Method
X 3. Chemical Method

“ 4. Rubber Balloon Method

Question ID : 600929964
Status : Answered
Chosen Option : 4

Q.94 Find out the working stress if a steel column carries a load of 1.6 MN with a factor of safety
of 5. The ultimate stress for steel is 472 MN/m?:

Ans X" 1.54.44 MN/ m?
o 2.94.44MN/ m?
75 3.84.44 MN/ m?

X 4.44.44 MN/ m?

Question ID : 600929976
Status : Answered
Chosen Option : 2

_—

Q.95 What is the ratio of liquid limit minus the natural water content to the plasticity index of the
soil known as?

Ans X" 1. Liquidity Index
/X 2. Yield Limit
« 3. Consistency Index

X 4. Index of plasticity

Question ID : 600929960
Status : Answered
Chosen Option: 3

Q.96 The principle of super position is valid only if the material is:
Ans X 1. Plastic

x 2. Elasto-plastic

x 3. Elastic

( 4. Stress -strain relationship is linear

Question ID : 6009291008
Status : Answered
Chosen Option : 3
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Q.97 Which of these is not a cumulative error while surveying?
Ans X" 1.Bad straightening

“ 2. Careless holding
X 3. Sag in chain
x 4. Bad ranging

Question ID : 6009291032
Status : Answered
Chosen Option : 2

Q.98 As per two force principle, if a body in equilibrium is acted upon by two forces, then they must

be.
Ans X" 1 Collinear

“ 2. Equal, opposite and collinear
X 3. Opposite

x 4. equal

Question ID : 600929989
Status : Answered
Chosen Option: 2

_—

Q.99 Overall volume defined by the outer dimensions of the sample is called as?
Ans x 1. Absolute density

x 2. Skeletal volume
( 3. Bulk volume

x 4. Specific gravity

Question ID : 600929997
Status : Answered
Chosen Option: 3

Q.100 which of following force the Body may be in equilibrium, If the sum of all the forces acting on

a body is zero?
Ans “ 1. Concurrent

x 2. Unlike parallel
X 3. Like parallel

x 4. Parallel

Question ID : 600929990
Status : Answered
Chosen Option: 1
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Q.101 The volume of 1 bag of cement (50kg) is equal to:
Ans X" 1.0.0337 cum

W 2.0.0347 cum
/X 3.0.0327 cum
/< 4.0.0317 cum

Question ID : 6009291059
Status : Answered
Chosen Option : 2

Q.102 Which of the following method can be used to determine the water content?

Ans “ 1. Torsion Balance method
x 2. Dry Sieve Analysis
x 3. Chemical Method
x 4. Hydrometer Method

Question ID : 600929959
Status : Answered
Chosen Option: 1

Q.103 What is the number of cement bag required in Tmeter cube work. Take weight of 1 cement
bag as 50kg?

Ans X" 1.235bags
/X 2.30.3 bags
o 3.288bags
/X 4.26.6 bags

Question ID : 6009291061
Status : Answered
Chosen Option: 3

—_—
Q.104 A brick wall in which each course consists of alternative headers and stretchers is known as:

Ans “ 1. Flemish Bond
X 2. Zigzag Bond
x 3. English Bond

X 4. Stretcher Bond

Question ID : 6009291058
Status : Answered
Chosen Option : 1
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Q.105 Water that forms a hydration shell around soil grains is known as:

Ans X 1. Structural water
( 2. Solvate water
X 3. Pore Water
x 4. Infiltered water

Question ID : 600929965
Status : Not Answered
Chosen Option : —

Q.106 Poisson's Ratio is defined as the ratio of:
Ans X 1. Longitudinal Strain by Lateral Strain

x 2. Linear Strain by Volumetric Strain
( 3. Lateral Strain by Longitudinal Strain

x 4. Lateral Strain by Volumetric Strain

Question ID : 600929973
Status : Answered
Chosen Option: 3

Q.107 Active Clay has an activity greater than?

Ans X' 15
X 2.2
5 3.35
v R

Question ID : 600929969
Status : Answered
Chosen Option : 4

Q.108 The carry over factor for a prismatic beam is:
Ans X 1.0.25

K21
X 30
o 205

Question ID : 6009291020
Status : Not Answered
Chosen Option : =
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Q.109 Which of the following effect of Fly Ash on cement concrete is false?

Ans X 1. Reduces the amount of air entraining agent
x 2. Slightly improves the resistance to Sulphate attack
( 3. Increase the heat of hydration of concrete

x 4. Reduction in permeability of concrete

Question ID : 600929955
Status : Answered
Chosen Option: 3

Q.110 Water chemically combined in the crystal structure of the soil mineral is called as?
Ans ( 1. Structural Water

x 2. Crystal water

x 3. water

x 4. Adsorbed Water

Question ID : 600929961
Status : Answered
Chosen Option: 1

Q.111 The wedge shaped unit which is fixed at the crown of the arch is called as:
Ans x 1. Spandrel

X 2. Voussoirs

25 3.Haunch

“ 4. Keystone

Question ID : 6009291063
Status : Answered
Chosen Option : 4

Q.112 The relationship governing the laminar flow of water through capillary tube is known as?
Ans X" 1. Archimedes' Law

( 2. Poiseuille’s Law
x 3. Mohr's Law

x 4. Newton's Law

Question ID : 600929963
Status : Answered
Chosen Option : 4
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Q.113 Which of the following test is used to measure the wear of stones?
Ans X" 1.Crushing test

x 2. Abrasion test

X 3. Impact test
W 4. Attrition test

Question ID : 600929950
Status : Answered
Chosen Option : 2

Q.114 Life of Country wood in work in building is:
Ans x 1.7 years

x 2.2 years

x 3. 30 years

W 4 15years

Question ID : 6009291054
Status : Answered
Chosen Option : 4

Q.115 The method of Tension coefficient developed by:
Ans X" 1 K. Stephen

X 2. Hardy cross
“ 3.R.V .south well

X 4. Henry beck

Question ID : 6009291017
Status : Not Answered
Chosen Option : =

Q.116 A short hollow steel column has an internal diameter of 200 mm and cross sectional area of
column being 0.01694 m?Z. Find out external diameter in mm:

Ans  of' 1 2481

X 2.254.4
X 3.2453
X 4.250.5

Question ID : 600929977

Not Attempted and
Marked For Review

Chosen Option : =

Status:
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Q.117 Which of these is not a characteristic of surveyor's compass?

Ans ( 1. The reading is taken with the help of a prism provided at the eye sight

x 2. Sighting and reading cannot be taken simultaneously from one position of the
observer.

x 3. Needle is of 'edge bar' type

X 4. Graduations are engraved erect.

Question ID : 6009291034
Status : Answered
Chosen Option : 1

Q.118 The tension coefficient method is based on:
Ans X" 1. method of sections and equilibrium

x 2. method of Equilibrium
( 3. method of Joints and equilibrium

x 4. method of Joints and section
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Q.119 In optical characteristic of a telescope which compound lens free from spherical aberration is
termed as?

Ans X" 1. Magnification
( 2. Aplanation
X 3. lllumination

x 4. Achromatism
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Q.120 The center of Gravity of Hemisphere lies at a distance of from its base measured

along the vertical radius.
Ans X 1.8r/3

X 2.8/3r
X 3.3/8r
W 2308

Question ID : 600929993
Status : Answered
Chosen Option : 4

Page - 45




